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Puzzle 1 (Hard, difficulty rating 0.67)

) |
©o|—|vlo|—|m]o|a]<|] F]o|wo|w||—|—]<]|m| —|o|a|o|—|w]o|m|<] Bl<|wo|—|m|o||wo|—[w
o o
o[t|f=|ojo]—|o|o] || —|o|m|wv]ofol~]  Ho|~|<t|o|m|ojw|—[a]  #m|o|wol—|—|o]<t|o|o]
® s s
||| o]~ Sl—|o|m]o|o| <[] w ] [Te) [sp] (%] (SN Rd B3 (el Kol X Slo|~|av|w|o| s |jm|—|©
2] 2 2]

— || —~] || o] of<r| o 3lo|o|=|w|—|m]o[xt(a]  Zl| | o]o|w| oo — 3=~ |w]Nfwo|o
< |(w|o]—|cn|~]|o|o|m]  Tlm|—|jo|s|o|w|—|o] Tlo|t|—|—|o|m]|n|w]|o] TjN|w|o|o|o|~]—|m| <
€ £ €
o|o|m|w|o|~[—|] Slo|w|s|—|o|ajol—|m]  Slo|w|o]—|x|c|om|~|o]  Slolo| ||| m|o|o| i~
o e) o
(] (5] (]
~lo[—s|w|o|Nmo] S| o|m|w[—|ajofol  Zla|o|-|w(o] st |ofm]  Zlo|o|o|a|~| o<
N ™ <t
w|o|ol|m| o<~ — o|v|m|©]—|o| o]~ |w| < o] |—|o]m|fo]—| 0|0 ol—|=|~]o|w|o]o|]|m
N N N
o[ fof~|—fo|o|©o]  Flwo|~[ol(ajofmo|—]  Flo|ofw]sfo|~|—iNo)  Flo|f©o] < m| oo —




